
:zdx.- - Y(lY _ 0- -  -
X y ,+ 3

2dx-[,,-  3
X

y + 3 MY q 0

2 lnx - y + 3 lnty + 3) = 1nC

&$u y=21nx+31n(y+3)-lnc

y = lnx2(y  + 3 13C

&I ey.cx2(y+3)3

MA 216 13



ii-Id4  3 /=a&W-n-i  y cot x + y = 2 ; y ( ; I=0

?&PI i5-1  y * 2 ~8:: cot x * 0 duniad7uisn~~Xi$l

dY
- 2 +tanxdx=@

Y

WY0 lnly  - 21 - lnlcos xl = c

In 1 G 1 =c

14 MA 216



0= 2+c;cos~

‘iui a rl‘a61
I

dx

1+x
2 + !

” dy _ = 0

l+Ji
2

t&k  arc tan x + arc tan y = c

MA 216 15



1 . (1 - x)y’ = y2

2 . sinx siny dx + cosx cosy dy q 0

3.

4.

2
xy’dx  + ex  dy =0

E!=-”
dP F

5.

6.

7.

8.
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v = exp ( J -&  d(x/y)  = exp (In  Ix/y1 =--G

u3lrlyuMn7hl:  ~~Itiz4un17udum~~

(x-i  Wx+%dy =0
Y

Go xdx - t $dx - x dy)  =0
Y2

?&I d(x2/2)  - dtx/y)  =  0
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4 31 3
3x Y + Y = c x
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2(2xy  + 4y - 3Mx  + (x  + &xy = @
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⌧ q x - y + In
I
x - y - 2- -  +c
x - y + 2 I

x - y - 2
y - c = l n  - -

I x-y+2 I

’ - ’ - ’ - c exp(y)__- -
x-y+2 1 1

(x + y)(dx - dy 1 = dx + dy

&I

(x + y - 1M⌧ = (⌧  + y l lkiy

%&I dy _ x+y-1
dx - -x + y + 1

. . ...(4)

47MA 216



dv 2vGE1  -&=v+l

2dx  = + dv

ikhimwi~l~  2 x  = v + lnlvl  +  c

UmMh v = x + y

2X = X + y + lnlx + yl + c

l&l x - y - c = lnlx + yl

x + y = clexp(x - y)

dy2 .  -&‘f’f’

(?I.  2x) -+.5

Y/X

1 + (y/xl2

pttulJi  2 ::  -a&lGJ~lJuuu

* = g(
alx + bly

dx a2x  + b2y ) #

. . ...(5)

. . ...(6)

MA 21648



d.Y dv
%?%I  -&=v+x-&

x * + v - f(v)
‘dx -

dv
&I x z = f(v) - v

%%I dv
1 dx

f(v) - c; = x

$.&&,,I,  dy = - M(XJY  )
dx N(x,y)

. .  . . .(8)


